KAWAI

HML-2

Assembly Instructions
Aufbauanleitung
Instructions d’assemblage
Instrucciones de montaje
Istruzioni di assemblaggio
R

77/ A2 FEIIERBEE

English

Deutsch

Francais

Espanol

Italiano

3L

HAEE




<
2
=
c
wi

HML-2 Assembly Instructions

1. Do not use this stand for any purpose other than its intended use as a piano stand.
A 2. At the final stage of assembly, ensure that all screws are firmly tightened.

3. Do not drag the product along the floor. Take care not to drop the product.

4. Do not stand on the product or exert excessive force.

5. If any screws are found to be loose, tighten them immediately.

6. Do not lean on the piano.

Bincluded parts

Before attempting to assemble the digital piano stand, please ensure that all parts below are included. A Phillips-head
screwdriver (not included) will also be required in order to assemble the stand.

ﬂ © Screw (6x60mm) x 4

OCapx4

0000

P e

Side Board

@ Screw (5x25mm) x 4

o e v v

® Hole patch x 8

@)
Back Board QOgOO
O

1.Adjusting the fall prevention glides

If the instrument will be placed away from a supporting wall, the tip-prevention glides should be used to improve the stand’s
stability. Remove the two screws, then reposition and reattach the glides located on the underside of the left and right Side
Boards A B. The extended glides should protrude outward, improving the stand’s stability.




2.Assembling the side boards A B and back board C
2-1]

Attach the Back Board ( to the left and right Side Boards A B
using two screws @ on either side.
* Ensure that all four screws are firmly tightened.

2-[2] (b)

Place Caps @ over the four screws.

]

English

775

3.Mounting the digital piano onto the stand | 4.Attaching the digital piano to the stand

Carefully lift the digital piano onto the assembled stand. Fasten the underside of the digital piano to the assembled
stand using two screws @ on either side.
* Ensure that all four screws are firmly tightened.

B Affix hole patches @ for hiding the holes in the side boards A B

Affix hole patches @ for hiding holes when not using the optional pedal unit (F-351).




<
v
(2]
wid
]
[
(a]

HML-2 Aufbauanleitung

6. Lehnen Sie sich nicht an das Piano an.

A 1. Benutzen Sie den Stander ausschlie3lich als Stander fiir das Digitalpiano.
2. Nach dem Zusammenbau aller Teile priifen Sie bitte erneut, ob alle Schrauben und Verbindungen fest sind.
3. Ziehen Sie den Stander nicht Gber den Boden und lassen Sie ihn nicht fallen.
4. Stellen Sie sich nicht auf das Produkt und tben Sie keine Gibermafigen Kréfte darauf aus.
5. Falls einige Schrauben locker sind, ziehen Sie diese sofort wieder fest.

B Beiliegende Teile

Vergewissern Sie sich vor dem Aufbau des Standers, dass alle nachfolgend aufgelisteten Teile vollstandig vorhanden sind. Fir

den Aufbau bendtigen Sie einen Kreuzschraubendreher, welcher nicht im Lieferumfang enthalten ist.

g

L

Seitenteile

Riickwand

<>

1.Positionieren der Gleiter

© Schraube (6x60mm) x 4

e = T

O Kappen x 4
0000

@ Schraube (5x25mm) x 4

AT

® Aufkleber x 8

@
O~
OO
QOO

Falls das Instrument nicht an einer Wand positioniert wird, empfiehlt sich die Positionierung der Gleiter fiir eine bessere
Standfestigkeit zu dndern. Schrauben Sie die Gleiter - die sich unter den Seitenteilen A B befinden - ab, drehen Sie sie (so, dass

sie hinten herausragen) und schrauben Sie sie anschlieend wieder fest.

o
Schraube

&
Gleiter




2.Zusammenbau der Seitenteile A B mit der Riickwand (

2-[1]

Verschrauben Sie die Riickwand € mit den beiden
Seitenteilen A B mit je 2 Schrauben @ auf beiden Seiten.

* Priifen Sie den festen Sitz der 4 Schrauben.

2-(2]

Setzen Sie die Kappen @ auf die 4 Schraubenké&pfe.

)
e/ /

o)
2N
=

/)=

=
¥}
2
=
N, 3
6o °
Jm
3.Positionierung des Digitalpianos auf dem 4.Befestigung des Digitalpianos aufdem
Stander Stander
Heben Sie das Digitalpiano vorsichtig auf den aufgebauten Befestigen Sie nun das Digitalpiano mit je 2 Schrauben @
Stander. auf jeder Seite.

* Prifen Sie den festen Sitz der 4 Schrauben.

BBringen Sie Aufkleber ® an, um die Locher in den Seitenteilen A B abzudecken

Bringen Sie Aufkleber @ an, um Lécher abzudecken, wenn die optionale Pedalstiitze (F-351) nicht verwendet wird.




2
[
WU
c
©
S

[

Instructions d’assemblage du HML-2

A 1. N'utilisez pas le socle a toute autre fin que celle spécifiée pour les socles de piano.
2. Alafin du montage, veillez a ce que toutes les vis soient fermement serrées.
3. Ne trainez pas le produit sur le sol. Faites attention a ne pas laisser tomber le produit.
4. Ne vous tenez pas debout sur le produit ou n‘exercez pas de force excessive.
5. Si des vis se desserrent, resserrez-les immédiatement.

6. Ne vous appuyez pas sur le piano.

HPiéeces

Avant de commencer le montage du stand du piano numérique, assurez-vous que toutes les piéces ci-dessous sont présentes.
Prévoyez également un tournevis cruciforme (non inclus) pour le montage du stand.

1 ]

P e

Panneaux latéraux

Panneau arriere

1.Réglage des coulisseaux anti-basculement

© Vis (6x60mm) x 4

Ty U TS

@ Capuchons x 4
O00O0

@ Vis (5x25mm) x 4

A

@® Protections de dissimulation d'orifice x 8

@
O~
OOQO

)

Si linstrument est placé a une certaine distance d'un mur de support, il faut utiliser les coulisseaux anti-basculement pour une
meilleure stabilité du stand. Retirez les deux vis, puis repositionnez et fixez a nouveau les coulisseaux sous les panneaux latéraux
gauche et droit A B. Les coulisseaux en extension doivent dépasser du panneau et améliorer ainsi la stabilité du stand.

Coulisseau



2.Assemblage des panneaux latéraux A B et du panneau arriere C

21]

Fixez le panneau arriére  aux panneaux latéraux de gauche
et de droite A B a I'aide de deux longues vis @ placées des
deux cotés.

*Veillez a ce que toutes les vis soient fermement serrées.

2-2]

Placez les capuchons @ sur les quatre vis.

=

)
-/ /

/)=

~,
=

Jm
2
3.Montage du piano numérique sur le stand | 4.Fixation du piano numérique au stand S,
[=
Posez avec précaution le piano sur le dessus du socle monté. Fixez la base du piano au socle monté a l'aide de deux vis @ E

placés des deux cotés.
*Veillez a ce que toutes les vis soient fermement serrées.

BFixez les protections de dissimulation d’orifice @ sur les panneaux latéraux A B

Fixez les protections de dissimulation d'orifice @ lorsque vous n’utilisez pas le pédalier optionnel (F-351).




=]
C
]
Q
0
o

Instrucciones de montaje del HML-2

. No utilice la base para cualquier fin distinto a su uso previsto como soporte de piano.

. En la etapa final de montaje, asegurese de que todos los tornillos estén bien apretados.
. No arrastre el producto por el suelo. Tenga cuidado de no dejar caer el producto.

. No ejerza presion excesiva sobre el producto.

. Sialgun tornillo se afloja, apriételo inmediatamente.

O U1 A W N =

. No se apoye en el piano.

B Piezas incluidas

Antes de montar el soporte de piano digital, asegurese de que todas las piezas mostradas mds abajo vienen incluidas. Un
destornillador Phillips (no incluido) también sera necesario para montar el soporte.

ﬂ / O Tornillos (6x60mm) x 4

O Embellecedores x 4

0000

P e

Tablas laterales

@ Tornillos (5x25mm) x 4

o e v v

® Tapones de agujero x 8

@)
Tabla trasera OOOO
OOO

1.Ajuste de los rieles de prevencion de caida

Si el instrumento se coloca lejos de una pared donde apoyarse, se deberian utilizar los rieles de prevencién de deslizamientos,
para mejorar la estabilidad del soporte. Retire los dos tornillos, y luego vuelva a colocar los rieles ubicados en la parte inferior
de las tablas laterales izquierda y derecha A B. Los rieles extendidos hacia afuera deberian sobresalir, para mejorar la estabilidad
del soporte.

Deslizadora



2.Montaje de las tablas laterales A B y la tabla trasera C
2-1]

Fije latabla trasera Ca las tablas laterales izquierda y derecha
A B usando dos tornillos @ en cada lado.

* Asegurese que los cuatro tornillos estén bien apretados. %‘
2-[2] ~J B
Coloque los embellecedores @ sobre los cuatro tornillos. @

Ny

[1]
S /
A
\\
60
3.Colocacion del piano digital en el soporte 4,Conexion del piano digital a la base

Coloque con cuidado el piano digital en el soporte ya Sujete la parte inferior del piano digital al soporte montado

montado. con dos tornillos @ a ambos lados.
* Asegurese de que las cuatro tornillos estén bien apretadas.

Espanol

B Coloque los tapones de agujero @ para ocultar los agujeros de las tablas laterales A B

Coloque los tapones de agujero @ para ocultar los agujeros cuando no esté utilizando la unidad de pedales opcional (F-351).




Istruzioni di assemblaggio HML-2

1. Non utilizzare il supporto per usi diversi da quello di supporto per pianoforte digitale.
A 2. Alla fine dell'assemblaggio assicurarsi che tutte le viti siano ben fissate.

3. Non trascinare il supporto sul pavimento. Attenzione a non far cadere il prodotto.

4. Non appogagiarsi al supporto o a esercitare una forza eccessiva.

5. Se qualche vite non e fissata bene, stringerla immediatamente.

6. Non appoggiarsi sul piano.

HParti

Prima di procedere con I'assemblaggio del supporto assicurarsi che tutte le parti siano presenti. Per montare il supporto &
necessario anche un avvitatore Phillips.

ﬂ / © Viti (6x60mm) x 4

O Coprivitix 4

0000

P e

Pannelli laterali

@ Viti (5x25mm) x 4

o e v v

® Chiudifori x 8

@)
Pannello posteriore OOOO

OOO

1.Regolare le guide anti-caduta

(=]
c
8
®
=

Se lo strumento & posizionato lontano da una parete di appoggio, si consiglia di utilizzare le guide anti-caduta per avere una
migliore stabilita. Rimuovere le due viti, quindi riposizionare e riattaccare le guide collocate sotto i pannelli laterali sinistro e
destro A B. Lestensione di queste guide verso l'esterno migliorano la stabilita del supporto.

10



2.Assemblare i pannelli laterali A B e il pannello posteriore C

21]
Unire il pannello posteriore C ai pannelli laterali sinistro e
destro A B utilizzando due viti @ su ogni lato.

* Assicurarsi che tutte le quattro viti siano fissate saldamente.

2-(2]
Mettere i copri viti @ sulle quattro viti. 0
< /
A
\\o
o0
3.Montare il pianoforte digitale sul 4.Fissare il pianoforte digitale al supporto

supporto

Fissare la parte sottostante del pianoforte digitale al
Appoggiare con delicatezza il pianoforte digitale sul supporto utilizzando due viti @ per ogni lato.
supporto assemblato. * Assicurarsi che tutte e quattro viti siano fissate saldamente.

Italiano

B Attaccare i chiudi fori @ per nascondere i fori sui pannelli laterali A B

Attaccare i chiudi fori @ per nascondere i fori quando non si sta utilizzando I'unita pedali opzionale (F-351).

11



233%

HML-2% 5=

A 1. EARER AT RIRE

2. fERECTERET, WMEH BN ERIRLER XER.
CBIEE RN EHER . PR

- BIEE BT S i L ERE S

IR IMAMRENIRL, BUXEE .
CRIHERENE L.

o O AW

[ [
T%%tk4i@%§z , BRERLEEESUTES. FEE—%+FIE47] (REAHNTES) ARREIRN

) ﬂ / © 1242 (6x60mm) x 4

O JFIRLL1E x 4

0000

P e

R

0O 124 (5x25mm) x 4

AT

OEFLMEx8

B OQgQ
S

1. ARMMBAIEHEIRE

MRNBER IR BIMERENIMT, BHERETLUEMREMY. FiEABUIRL, REBLANMABRIREMHEE.
PR R ERERGERK, UERSIANSEMNRE L.

12



2. ZEUHRA BFIRERC

2-[1]
FiZ2 @ 7E &0 EEIRCFA B A MIREREE R
* B bR SR E U AR 2

2y .
IR IA O BRERL L. o B
el
C =
/ A
J’ \
\\
)
J
3. 1SR EIITVEE 4. JSHRNEREEIASEL
RIS B NIRRT AL IS N R L. F4giRss @ I INERE EHEC R R FRIN N R k.

* MR FURLLE R R ERY .

BFEEFLY © TEMHRA BEintE(E7l
R RBSRF-351R, LG @ BFLIELE.

13



B4&E

HML-2E77/ A2 FHEIIEREAS

1. ZOHML2IEET/ A2 FUSNDBER TR LAV TIEEL,

2 HBHIITHEROD B ITRNTDRI DL oD IFEE O TV DD ZERERL TLEEL,

3. AMBERD LTI ETOHVTLILEV ARREZEE B VLDITERL T EL,
4. FEGD LR ) GBRITEHZE DN I LEWTLEEL,

5. 2D BATVADZEREDIFTeE. TITHED TIEEL,

6. E7/ICFIDDSHENTLIREL,

IFEETh TV S5

TIRIET /X2 R I THRNC AT DI NTDRRDOADTWNDILZRRBLTLLEW A2 R EHEHIIT
BIeBITIF T ZARTAN— (BENTEIELRA) LBLETT,

ﬂ / O ¥ (6x60mm) x 4

O Fry7x4

LT 0000

Ho RR—R

A B

@ ¥ (5x25mm) x 4

o e v v

®O—Lx8

@
BiR O~
OO
QOO

1. &AL I S FZ2RAETS

RBEETEATICRETSHER EHMFLET M R EFEOTA2Y FORERZBOHIVENHIE T EEDTAF
R—FABOEEICREEINTWSY 51 FDOSZNTNX 2K %(IET L. I 51 FOUBZEH LT EOI—EEU S
TIEEW ARV FDRERZZDBH. T T4 FOMEIINMIICREHTIIICRET2HENBIET,

14



2. 1 FR—FA.BEERCERHIITS

2-1]
SARCEEEDY A FR—FABIC. ZNEN2Y @ 2%
B> CRUMIFET,
CIKDRIBINCLoDUREOTVBTEEREL T
TLIEEW, B
"
2-2] 6’\
X DUEFNENIC, FruT O EDSEET, o
< /
Z A
\
'\\
60
J .
3. FURIVET/ERAY FIHiES 4. FIRIVET/EZEY FIBYIES
BT RAY RIEF VRV ET/ A EBICREET, |  BHITRARY NEFIRILET) OF %, FRIZh

ZN2Y @ 26T DEE-CEELET,
*YEDRIBT AT LoD URES TV BTEERTAL
TLIEEL,

B A FR—FA.BONZRT 8. —IL O ZY SIS
FT2aY DRI b (F-351) EEALEVES. S —)L @ EROTRERLES,

B4&E

15



KAWAI

THE FUTURE OF THE PIANO

Copyright © 2022 Kawai Musical Instruments Mfg. Co.,Ltd. All Rights Reserved. SP00001412




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue true
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /FlateEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


